
1 00 /

flip flop A Each f/f must change state instantly at the same time,
flip flop B otherwise we might end up at the wrong state

We can use a master-slave approach to make sure that
changes propagate instantly.
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* The state of the master becomes
the input of the slave

The clock behaves as such:
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Behavior of y:

When clock is 1, Y is a copy of the input D

when clock is 0, 4 doesn't change

Behavior of Q:

when clock is O, Q is a copy of Y

when clock is 1, Q doesn't change

Y: output of the master f/f

Q: output of the slave f/f
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When D and C are 1 the state of the master becomes 1.

the only way to change the value of the circuit (master) is for

C to change from 1 to 0 (negative edge)

Q



P r o b l e m  s t a t e m e n t :  D e s i g n  t h e  c l o c k e d  s e q u e n t i a l  c i r c u i t  f o r  t h e

b e l o w  s p e c i f i c a t i o n  u s i n g  J K  f l i p  f l o p s .

0  →  /  b y  a  1
1  >  2  b y  a  0

2  →  3  b y  a  1

3  →  0  b y  a  /
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JA = BX' Ka = BX
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